A ST
M Q% S EXDIE AF(MEIEX/AMEEXLE)
ol d& SX8E &4 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SXE ML 1,078,559,336 1,075,451,4% 3,107,840
= 657,963,122
[ 37,516,574
Jl 870,456
[ 382,209, 184
=QX SH2| SXIIEE RE(ARISAI/AtEI X2 et 2,109,505 2,011,304 98,201
= 447,524
= 1,661,981
d8 SXaE £d 836,522 841,524 25,002
= 150,000
== 686,522
AR SA RN =& 519,610 526,831 ANT,221
201 Ler=23| 15,900 21,900 26,000
01 At2teltl 15,900 21,900 26,000
OAtz|=XIAIE EOt 5,800
OAI2&?2 23 4,100
OAIRI Sl Al JHe 6,000
202 04l 4,500 9,000 24,500
01 SLHoIH 4,500 9,000 24,500
OAL2I= Al AIZ OfE 4,500
203 HR=AH] 44,000 48,000 24,000
03 A= PR F&IH| 44,000 48,000 24,000
OAMEISXI SEAH =X 44,000
307 @I2to| & 368,530 347,001 21,439
05 git?(& = 119,970 111,651 8,319
OLHSENX T A=K A2 119,970
11 AMEISXAEEES 248,560 235,440 13,120
OARISXIAH E2=1= K& 60,000
OZASEXNXE AR SXIEAH AAXH
dE 2SX2 74,510
OZE?l ARSI SAEL MM+ 114,050
308 AHXIHMSO0IA 86,680 100,840 214,160
01 XN EES 86,680 100,840 214,160
OARI=RIdE 7= X 15,000
OAIZ AF2IS A2 SAKAF XML& 46,680
OAMSISXIAL SE Hat Xd 25,000
ANB=SRHE K& (HEAY) 16,912 14,693 2,219
301 LEN= 16,912 14,693 2,219
0 MSRREENYS 16,912 14,693 2,219
OMIERRE B(HE) 14,928
OARI=2RE SAHI 1,984
ASBEET XA (Z1) 300,000 300,000 0
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SN =KD
M 2% Y2 SXPDIE RE(AEISXI/AEIS R
ol d& SX8E &4 EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 150,000
=S 150,000
308 XXM SOIA 300,000 300,000 0
= 150,000
== 150,000
01 XN BSELES 300,000 300,000 0
OAteI2d SE+9 XI& 300,000
= 150,000
& 150,000
SXAE &S5t 23 1,272,983 1,169,780 103,203
= 297,524
= 975,459
MEIFXAE 28 FA 847,947 757,053 90,8%4
307 elztol & 250,220 232,800 17,420
11 AMEISXAEEES 250,220 232,800 17,420
O=H? AIRISXAIE SAHL SX==& 250,220
308 AXIMSOIA 590,727 524,253 66,474
01 XN B2 LS 590,727 524,253 66,474
OAlZ M2ISXIAE SALAE S X 526,272
OQJfeI2gIAIE XIE 12,000
OAIRISXIAIE SAHRG &oll28 It 52,455
403 X SHMSAH=01H 7,000 7,000
01 AR A =2 £ 7,000 7,000
OFEXAl SH SSAESKZ AIE i 7,000
AMBISTIAE SAX tHHE X3 (=20)(HE) 425,036 42,721 12,309
= 297,524
< 127,512
308 AtXIEMSOIE 425,036 42,721 12,309
= 297,524
= 127,512
13 SI[2SOHe & EAS A 425,036 42,721 12,309
OAIRISXIAIE SAR THHIQIE X 425,036
= 297,524
= 127,512
SEHATIM BHSHAISIER/EE) 10,707,160 11,675,950 A968,790
SELAAMY XS 10,707,160 11,675,950 A968,790
S22HA A2 € EEAY =0 10,604,760 11,540,950 AG36,190
201 et 3| 7,000 5,000 2,000
01 At 2|l 7,000 5,000 2,000
OggIEEI A 5,000
OE2HH 29 43t 2,000
202 04l 3,000 0 3,000
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A SAE M
B PELALHM HHH(ME=X/2R)
ol S AN X2 (SHol: )
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
05 21t = 72,400 105,000 /32,600
O Z=)182 ?E 28 72,400
S| ZMEEH(AISSX /I =MEDE) 349,181,299 321,754,682 27,426,617
= 315,025,450
= 1,033,725
& 33,122,124
NASE N2 BFH=EA &S 349,181,299 321,754,682 27,426,617
= 315,025,450
= 1,033,725
== 33,122,124
NasSE SEXNE 86,700 148,500 261,800
201 Ler23| 3,200 3,500 2300
01 At22telH] 3,200 3,500 A300
OJZHUEEFAY =X 3,200
202 04| 3,500 5,000 21,500
01 2LHA b 3,500 5,000 1,500
QI =MHEZHAIY F& 3,500
301 LELEE S 80,000 140,000 260,000
02 MBI 2HHSFHS(HAANS, XLHE) 80,000 140,000 60,000
Oxta? 2s8X& 80,000
2Z2=X XN (22) 10,364,625 11,286,000 A921,375
= 9,213,000
[ 1,151,625
301 EtE N = 10,364,625 11,286,000 N921,375
= 9,213,000
= 1,151,625
01 Al EE A S(FREXM) 10,364,625 11,286,000 A921,375
==X X 10,364,625
= 9,213,000
= 1,151,625
=0 § SXHAY(==2AE JIsE2)(=1) 78,630 82,185 A3,555
= 46,250
= 32,380
403 AXIEHMSAH=0ld 78,630 82,185 A3,555
= 46,250
< 32,380
01 MXIHH A 222X 78,630 82,185 A3,555
C=0A4 JIs8EY X 78,630
= 46,250
= 32,380
=0 S SXXE(==2AE 28 X)) (HEAY) 3,436,000 3,318,000 118,000
308 XXM SOIA 3,436,000 3,318,000 118,000
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2A:

S 201D ZMEEE (M=K EME D)
o NASE AW S0=K &8 (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
0l AN AA R RS 3,436,000 3,318,000 118,000
LHOIAE 22 XB(ZE) 3,436,000
DA O @2l M PE(20) 368,000 252,000 116,000
= 230,000
< 138,000
308 X EHHIS 0 & 368,000 252,000 116,000
= 230,000
< 138,000
0 IS HZ A A 368,000 252,000 116,000
ODSA SIER X 304,000
= 190,000
< 114,000
O DEA DRER & 64,000
= 40,000
< 24,000
DEAF ARIZRIFZAA e (2D)(A2) 26,629 0 26,829
2 26,829
308 XA A S0l 26,629 0 26,629
2 26,829
0 I HE A A 26,629 0 26,629
ODSA Ol ARIZRIAF Q121 26,829
2 26,629
M ENREIER) 331,316,500 303,261,628 28,054,872
= 303,608,500
c 27,708,000
01 YBtEES 331,316,500 303,261,628 28,04 872
& 303,608,500
< 27,708,000
REEEEES EIEREESE) 331,316,500 303,261,628 28,054,672
AP ER 31,316,500
- 303,608,500
< 27,708,000
FEEIBAE! 221,189 131,843 A10,654
308 XA A S0/ 221,189 131,843 10,654
06 DT A =R 421,189 131,843 ~10,654
SR 421,189
HARHZO N (21) 2,075,920 1,992,446 83,484
S 1,927,700
< 148,230
01 YBEES 2,075,930 1,992,446 83,484
. 1,927,700
< 148,230
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A =SXEMD
B 20| EMHLE (A=K ZNE D)
=2l MASE N2 Z0=K A (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 A2 HSFS(RNEERTH) 2,075,930 1,992,446 83,484
OdfaE RS0 2,075,930
= 1,927,700
< 148,230
OI2204 AtllZelEEHMA M (2D) (A=) 1,006,8% 982,080 24,816
[ 1,006,8%
308 XHXIEMSOIH 1,006,8% 982,080 24,816
= 1,006,8%
01 XN EES 1,006,8% 982,080 24,816
OAlT 2A2S0{22IAF Q12| 1,006,8%
= 1,006,8%6
NASRAY 7= & A (AMBISX/ARISRLE 66,950,261 67,697,082 AT46,821
= 43,466,727
[ 16,517,797
= 7,965,737
SAAEIA S & 8 1,312,371 1,198,903 113,468
KNS =SXAKS D18t =4 1,161,645 1,054,903 106,742
201 2= 8,211 10,461 A2,250
01 At22t2lt] 8.211 10,461 A2,250
OAt2ISS A =8 2,961
OXNF=AAE 24 5,250
202 04t 4,000 4,000
01 =LHOHI 4,000 4,000
OXg=IIAMNG 29 4,000
307 212+01& 491,451 475,084 16,367
10 AlRISXAIZEE 22X 431,451 418,484 12,967
OZESENXZAIZISXE2s 2 254,840
OoZHzEW3 2H 176,611
11 AMEISXAEEE 60,000 56,600 3,400
OZH AMAZNSS2=3 24 60,000
308 AXIHSOIA 421,583 420,358 1,225
01 HAHHBSEEXS 421,583 420,358 1,225
OAlZ AMtal=XIE2e 29 272,603
2o 29 12,360
OXIS A2 AN 243t 136,620
403 AXIEHHSAH=0l 236,400 145,000 91,400
01 A= 2L 236,400 145,000 91,400
SEARISXZ JISES 178,750
OAtI=IIE2E JIs2H 30,650
ORI JIs:2d 27,000
MNEISE=IIAE =8 150,726 144,000 6,726
307 lztol & 150,726 144,000 6,726
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SA: =XEHY
3 NA=SIAY 7= L A4S (MSA/ARISXLE)
CHel: TS=XAHIA OIH W (choy: @2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 180,726 144,000 6,726
OZESENX A2 SEEZHE 29 180,726
SAAHIA BEHA 283 5,205,449 4,711,658 493,791
= 500,000
s 2,641,186
s 2,064,263
AZ7 Sgtatellzel X (=1) 135,000 135,000 0
= 135,000
308 XXM SOIH 135,000 135,000 0
[ 135,000
01 MRHHBAEES 135,000 135,000 0
OAlZ SEtAtell2el X1 135,000
[ 135,000
SHE ¥EE SEAMHIA XA(Z12) 1,291,000 1,291,000 0
= 1,291,000
308 AHXIHMSO0IA 1,291,000 1,291,000 0
= 1,291,000
01 HHHBSEEXS 1,291,000 1,291,000 0
OsH=s AEE SSAtlA XA 1,291,000
[ 1,291,000
SEAHEIZCIAL Q1] X (=1) 912,186 902,928 9,258
= 912,186
308 XtXIEMSO0IE 912,186 902,928 9,258
s 912,186
01 HASHHBAEEXS 912,186 902,928 9,258
OSEAtdIZ2|AL e124H] XI& 912,186
[ 912,186
JRSENUXE ABIMEIAY 2g(=21) 2,161,060 2,045,000 116,060
= 500,000
= 1,661,060
306 E= 2,161,060 2,045,000 116,060
= 500,000
= 1,661,060
01 &= 2,161,060 2,045,000 116,060
OHHSEXNXIE ARIAHIAR 2E 2,161,060
= 500,000
= 1,661,060
ZRSENXE AMBIMHIAR ARXSH 333,603 334,130 NB27
306 £= 333,603 334,130 NB2T
01 2d= 333,603 334,130 N527
OZJAEEIXE ASIMHIAR ARTRA 333,603
ASES NEAME (=) 367,800 0 367,800
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S SXEBD

M XASAAMY 2= 2 A (ASEX /A SR LB
pSi=

E9l: SXAHIA MEHH 2435 (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2

= 298,200
=S 69,600

308 XXM SOIH 367,800 0 367,800
= 298,200
== 69,600

01 XN B2 LS 325,800 0 325,800
O2ss NAMH(2D)(EX) 325,800
= 268,800
& 57,000

13 S 2SOHe & EAS A 42,000 0 42,000
OSES XEAE (=) 42,000
[ 29,400
= 12,600

S&AMHHIO0IM 2g(=21) 4,800 3,600 1,200
= 4,800

308 AHXIHMSO0IA 4,800 3,600 1,200
[ 4,800

01 HAHHBAEES 4,800 3,600 1,200
O AIHHI0IM 2 4,800
[ 4,800

A2IABIA BIRH AHY =& 16,329,120 15,8%,920 567,800
= 85,165
= 12,632,200
S 2,611,755

NEXEs MaIMHIA EXAIE (2 D) (RE) 497,409 443,409 54,000
= 348,186
== 149,223

201 er23| 3,000 0 3,000
= 2,100
< 900

01 AtR2t2|HI 3,000 0 3,000
OLASEAHIA 29 8,000
[ 2,100
= 900

202 04| 4,000 3,000 1,000
= 2,800
= 1,200

01 SLHoIH 4,000 3,000 1,000
OXIS At MEIAERIALY =& 2,000
= 1,400
== 600
oga=sAHIA 23 2,000
[ 1,400
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S SXEBD

(MBS XI/AtEI S XL e

BH: XA=TMY S U A
CHRl: ARRIMHIA HIRH™ AMY =& EEERSED
SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2
= 600
308 AXISHMSOIN 490,409 440,409 50,000
s 343,286
& 147,123
13 S| 2 SHICHEH B AR L EFALH] 490,409 440,409 50,000
OLRASEEXNXE KNGASMHIAXRAE 2
= 440,409
= 308,286
= 132,123
OZAHAEEXNXT NGAIMEIAXAS 2
STCNEYILTEN 50,000
s 35,000
& 15,000
KNETEE MIIMEIA EXAMSE(FD)(EX) 14,710,047 15,331,847 A621,800
s 12,284,014
& 2,426,033
308 AHXIHM SO & 14,710,047 15,331,847 A621,800
= 12,284,014
= 2,426,033
01 IXSHBAEERS 14,710,047 15,331,847 A621,800
OXISAMSIMBIAERAIE XA 10,866,777
as 9,047,734
= 1,819,043
QJtAZtE & & XI& 1,468,610
s 1,240,000
& 228,610
OXN G A ABIAE XA 22| XI= 34,804
= 29,580
= 5,224
OF Xl XIZ&AS 412,750
= 350,000
& 62,750
OALIEAMSIMHIA AlHAI 174,600
s 155,200
& 19,400
oga=s AL XIA 1,752,506
s 1,461,500
= 291,006
KA AISIMUIA XA 2 2 X2 (=21) 121,664 121,664 0
= 85,165
& 36,49
307 QIZ2t01 A 121,664 121,664 0
= 85,165
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SH: =NEMY
3 NA=SKAY 7= L A4S (MSA/ARISXLE)
St AIRIABIA BIR™ At =8 EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 36,499
02 QIZHEAAEE X 121,664 121,664 0
OXIEAISIAHIA HEAIEH 2 121,664
= 85,165
= 36,499
ELIFENI= TN PN 45,103,321 45,889,601 AT786,280
= 42,881,562
[ 244,411
= 1,977,348
Ag 2 AY9=A S8 FA 22,218 44,064 N\21,846
308 AHAIEHMSOIE 22,218 44,064 N\21,846
01 XN EES 22,218 44,004 N21,846
OXtE ALl 2 el A =0t B X 22,218
22 A (=1) 33,488,009 33,548,756 ~90,747
= 31,699,031
== 1,758,978
308 AXIMS0IA 33,458,009 33,548,756 20,747
= 31,699,031
[ 1,758,978
01 HHHBSEEXS 33,458,009 33,548,756 A0, 747
OXEZZAL 33,458,009
= 31,699,031
= 1,758,978
NedEX=s X2 - 2el(22) 129,795 0 129,795
= 123,264
=S 6,531
308 XXM SOl 129,795 0 129,795
= 123,264
== 6.531
01 XN BSEES 129,79 0 129,795
oxgdsidEs Az - el 129,795
= 123,264
& 6,531
NSATade 248(=21) 4,815,758 4,359,690 456,068
= 4,815,758
308 AXIMSOIA 4,815,758 4,359,690 456,068
= 4,815,758
01 AXEN B2 LS 4,815,758 4,359,690 456,068
OXNS A2l 24 4,815,758
= 4,815,758
ZOiade2E (20)(2Y) 632,069 616,471 15,598
= 442,448

- 444 -




D ENEHEL

NG =XA 2

o

I A (MBS XI/MEISRILE

e
bl

DR Mg - A AE EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[ 189,621
308 XX HAISOIH 632,069 616,471 15,508
2 442,448
== 189,621
13 B ZSOHEHZ A H AN 632,069 616,471 15,508
OZANIEHE 29 632,069
2 442,448
=S 189,621
XHe AR 221 (23) 244,411 88,135 156,276
2 244,411
308 XX EHHISOIH 244,411 88,135 156,276
= 244,411
01 XIS BAEE2 244,411 88,135 156,276
OXt& At 2tel 244,411
7 244,411
2253 e +3N9 g42 N (2D) 5,801,061 7,232,485 1,431,424
=2 5,801,061
308 XiXIEHHISOIH 5,801,061 7,232,485 1,431,424
2 5,801,061
01 XX SHHBABES 5,801,061 7,232,485 1,431,424
02253 Ys +SX2 g42 XA 5,801,061
2 5,801,061
Ots A (ABISX/E2K) 353,236,068 372,174,133 18,938,065
2 221,072,800
2 855,500
= 131,307,768
SAHIA 23 353,236,068 372,174,133 18,938,065
2 221,072,800
2 855,500
- 131,307,768
2ESAY BX 8,800 10,800 £2,000
201 LEr2 | 4,500 5,400 A900
01 AlR22lH 4,500 5,400 900
OESHBAAS 29 4,500
202 ofH| 4,300 5,400 AT1,100
01 2U ol 4,300 5,400 A1,100
OESAY =& 4,300
282 22243 N 835,535 925,670 A0, 135
308 XIXIHHSOIH 835,535 925,670 A90,135
01 AXSHHB XS 835,53 925,670 A90,135
OS2 222 S X 835,53
STHOIRIOIE XA (HEAIY) 4,210,866 4,210,968 A102




2A:

X ZH -
S=

SINESES I}
28 0ts X (AMa=SX/ER)

&elr EFAHA 28t EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOl 4,210,866 4,210,968 A102
01 XN B2 LS 4,210,866 4,210,968 A102
OSZE0E 0l XA (&) 4,210,866
SIS 28 Xd 75,600 95,600 £20,000
308 AtXIEMSOIE 75,600 75,600 0
01 HAHHBSEEXS 75,600 75,600 0
OAlZ SOISEAANE 2E8 K& 75,600
SKOISEXZHE 28 X2 (HEAY) 719,938 664,537 55,401
307 212+01& 674,938 619,537 55,401
10 Al2ISTIAEEE2HIEX 674,938 619,537 55,401
Ok SOISEXNEHH 2E XN (M) 674,938
308 XXM SOIA 45,000 45,000
01 AXHNBSELES 45,000 45,000
OAlZ SOISEXIAME JtEes XJA(H
&) 45,000
Helold n@ E4+ux(31) 75,000 72,000 3,000
= 37,500
= 37,500
307 21201 & 75,000 72,000 3,000
= 37,500
= 37,500
11 AMEISXAEEES 75,000 72,000 3,000
O0el0ld nd Exs 75,000
= 37,500
s 37,500
Oelold gstEdis N3 72,450 20,160 52,290
308 AXIHSOIA 72,450 20,160 52,290
01 HRHHBAEES 72,450 20,160 52,290
OMASE Ots gsEtls A2 72,450
ool S X3 303,560 290,000 13,560
308 AtXIEHMSOIE 303,560 290,000 13,560
01 AXEH B EES 303,560 290,000 13,560
ooeloly S&ed Xd 303,560
HEolE 22 XIJ(21) 660,000 663,000 23,000
[ 440,000
=S 220,000
403 MR SHHMSAH=01H 660,000 663,000 23,000
= 440,000
[ 220,000
01 A= 2L 660,000 663,000 23,000
OO0l FHA 660,000
[ 440,000
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2A:

X ZH -
S=

SINESES I}
28 0ts X (AMa=SX/ER)

&elr EFAHA 28t EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 220,000
oeloly &s(=1) 623,250 772,500 149,250
[ 415,500
= 207,750
403 THXI M SAH=01H 623,250 772,500 149,250
= 415,500
=S 207,750
01 AXISHHA =2 £ 623,250 772,500 N149,250
O=&E 0elold &= 623,250
= 415,500
< 207,750
Oi2lold WA MHA X2 1,268,080 1,280,000 A11,920
308 AHAIEHMSOIE 1,268,080 1,280,000 211,920
01 X HHBAEXS 1,268,080 1,280,000 A11,920
O08old WAEA XML X 1,268,080
Ol2l0lE SAL 824 HL 70,680 70,680 0
307 212+01& 70,680 70,680
11 AMEISXAEEES 70,680 70,680
O0lelold 2552 M 2HEE, us A& 70,680
gotE=ss X (21) 112,499,762 96,630,205 15,869,557
= 90,719,000
[ 21,780,762
308 AXIHSO0IA 112,499,762 96,630,205 15,869,557
= 90,719,000
= 21,780,762
01 HAHHBSExXS 112,499,762 96,630,205 15,869,557
oOZgRot2s= XI& 112,499,762
= 90,719,000
= 21,780,762
ARIHIES A HISK(21) 1,535,861 1,274,900 260,961
= 935,542
== 600,319
307 elztol & 55,000 46,000 9,000
= 27,500
== 27,500
10 AlISXAAEEHE 22X 55,000 46,000 9,000
OAIRIH ESMHIA HMSXIE(22l0]2t) 55,000
= 27,500
= 27,500
308 AHXIHMSO0IA 1,480,861 1,228,900 251,961
= 908,042
=S 572,819
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2A:
K| ZH -
o e

Sk

SINESES I}
28 0ts X (AMa=SX/ER)

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BdELES 1,480,861 1,228,900 251,961
OARH ESMHIA MBI (HSI12) 1,480,861
= 908,042
< 572,819
el 252 X 52,149,972 52,298,136 A148,164
308 AFXIEMSOIE 52,149,972 52,298,136 A148,164
01 X HHBAEXS 52,149,972 52,298,136 A148,164
OFcltd 252 K& 52,149,972
s SY N/ (=1) 2,104,513 3,075,409 A970,8%
= 1,697,000
=S 407,513
301 EtE NS 2,104,513 3,075,409 A970,8%
= 1,697,000
== 407,513
01 Al EE A ZS(2REXMR) 2,104,513 3,075,409 A970,8%
oJtgd=s+4 Xd 2,104,513
= 1,697,000
< 407,513
RE220 (o) Xd(F10) 77,550,629 110,920,784 A\33,370, 155
= 62,415,108
= 15,135,521
301 2PEN= 77,550,629 110,920,784 A\33,370,155
= 62,415,108
=S 16,135,521
01 A2 HSHS(RNEERTH) 77,550,629 110,920,784 A33,370,155
ORZ2S0(Z0ot+) X 77,550,629
= 62,415,108
< 15,135,521
S 1A X (21) 59,761,073 62,781,513 A3,020,440
= 40,424,000
= 19,337,073
308 AFAIEHMSOIE 59,761,073 62,781,513 A3,020,440
= 40,424,000
= 19,337,073
01 AXEH B2 LS 59,761,073 62,781,513 3,020,440
OEsuAA 2124 XI& 59,761,073
= 40,424,000
s 19,337,073
S MM X(=1) 11,763,8%4 11,192,366 571,528
= 7,971,000
S 3,792,894
308 AtAIEHMSOIE 11,763,894 11,192,366 571,528
= 7,971,000
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K
I-I il—l :
Ct2|:

SINESES I}
28 0ts X (AMa=SX/ER)
EFAHIA 23}

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 3,792,8%4
01 HASHHBAEEXS 11,763,894 11,192,366 571,528
OEFuAE XM2Md X 11,763,894
= 7,971,000
= 3,792,894
Helold XIR( ) 1,773,785 1,354,278 419,507
= 1,199,700
=S 574,085
308 AXIHHS0IA 1,773,785 1,354,278 419,507
= 1,199,700
< 574,085
01 XN BSEES 1,773,785 1,354,278 419,507
oogold X 1,773,785
= 1,199,700
S 574,085
OlglolE 22015 2l XA 1,062,920 1,069,200 16,280
308 AFAIEHMSOIE 1,062,920 1,069,200 16,280
01 XN EES 1,062,920 1,069,200 16,280
oogold X edxte| X 1,062,920
SIAHIA SEE X2 437,200 527,000 289,800
403 MR SHHMSAH=01H 437,200 519,000 A81,800
01 AR A2 2 £ 437,200 519,000 /81,800
O0elold 25 &d e X& 437,200
Oelold SHESH S K& 32,746 35,118 N2,372
308 AHAIEMSOIE 32,746 35,118 N2,372
01 HAHHBAEEXS 32,746 35,118 A2,372
O02l0lE HESH A 32,746
BX - MRA XI&(=212) 23,116,168 20,854,709 2,261,459
= 16,673,950
= 7,442,218
307 lztol & 47,074 47,074 0
= 23,537
s 23,537
11 AMEISXAEEE 47,074 47,074 0
T F0ISSXNAME WA WAL AP XI&H 47,074
= 23,537
< 23,537
308 XM SOIE 23,069,094 20,807,635 2,261,459
= 15,650,413
= 7,418,681
01 AXEH B2 LS 23,069,094 20,807,635 2,261,459
OEZx - M A XI& 23,069,094
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2A:

SINESES I}

M 2] 0t K (ME=X/ER)
&elr EFAHA 28t EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 16,650,413
=S 7,418,681
ool 24l X2 533,786 562,000 A18,214
308 AHXIEMSOIE 533,786 562,000 18,214
01 XN B ELES 533,786 552,000 A18,214
o0eloly =29 o83 s XN& 533,786
SRS SHAXTH(MEEX/ER) 243,301,034 245,520,113 2,219,079
= 77,950,621
[ 20,048,554
Jl 870,456
< 144,431,403
NEM ST 192,318,064 197,786,777 N\b,468,713
= 65,818,024
& 126,500,040
NEMUY 28 A 7,740 7,740 0
201 er= 3| 5,490 5,490
01 AtR2tc|Hl 5,490 5,490
ONENUE 29 5,490
202 04| 2,250 2,250
01 =LHO LI 2,250 2,250
OMEMHH 2F 2,250
SFopl=z=¢ X2 119,910,000 119,406,000 504,000
301 EtE N = 119,910,000 119,406,000 504,000
02 ARSI 2 A6 (FHAAHS, NSWE) 119,910,000 119,406,000 504,000
os0l==E 119,910,000
sol=g 88 Nd 30,000 30,000 0
201 fer= 3| 9,000 30,000 /21,000
01 AtR2tc|HI 9,000 30,000 /21,000
osIE=Y 82 X& 9,000
308 AHXIHMSO0IA 21,000 21,000
13 S 2S0He 4 A AS A 21,000 21,000
o=s0lE=g 82 N& 21,000
Ots=¢ 20 X=(21) 59,733,994 64,717,507 4,983,513
= 54,905,259
< 4,828,735
301 LEtE N = 59,733,9%4 64,717,507 /4,983,513
= 54,905,259
S 4,828,735
01 Al EE A S(FRNEEHA) 59,733,994 64,717,507 A\4,983,513
oots+¢ 20 X2 59,733,9%4
= 54,905,259
= 4,828,735
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SH: =NEMY

A SMESE SIXE(MISX/ER)

ol MEL HSEH EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Hergdolgd XA(=20) 12,421,000 13,531,000 A1,110,000

= 10,893,000
= 1,528,000
301 EtE N = 12,421,000 13,531,000 A1,110,000
= 10,893,000
< 1,528,000
01 Al EE A S (2 RDEXMA) 12,421,000 13,531,000 21,110,000
oxotgoled X 12,421,000
= 10,893,000
= 1,528,000
CHAHAOHE SEXId 175,800 25,000 150,800
301 LEIEE S 175,800 25,000 150,800
02 MBI 2EHSFHS(HAANS, XLHE) 175,800 25,000 150,800
OtHHAIHe S8 175,800
MEMDEAE] O] =2IIAD M XI&(=1) 39,530 39,530 0
= 19,765
< 19,765
307 gl2to| & 39,530 39,530 0
= 19,765
= 19,765
1 AMRISXAIEEX 39,530 39,530 0
OMEL== 22 X2 39,530
= 19,765
= 19,765
OtsESsSAHIA X 24,194,124 21,881,818 2,312,306
= 14,936,359
< 9,257,765
CHEIH SS4IE l24H] XI’(=21) 3,270,579 3,028,500 242,079
= 2,180,386
< 1,090,193
308 AXIMSOIA 3,270,579 3,028,500 242,079
s 2,180,386
= 1,090,193
01 XN B EES 3,270,579 3,028,500 242,079
OUEtN=SsHE 212Hl I 3,270,579
[ 2,180,386
= 1,090,193
Gl Ss4E 28] XI&(=1) 477,000 459,000 18,000
= 318,000
< 159,000
308 AXIHS0IA 477,000 459,000 18,000
= 318,000
< 169,000
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A SXNEH
A SMESE SIXE(MISX/ER)
s OlsEsSAtlA XA EEERSED
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
01 XN BELES 477,000 459,000 18,000
OUtaH =s4dH 234 X& 477,000
= 318,000
< 159,000
CHEM e Xl XI&(=2) 345,000 437,500 /92,500
[ 270,000
= 75,000
403 AXIEHHSAH=201H 345,000 437,500 /92,500
[ 270,000
= 75,000
01 AXISHHA=2EE 345,000 437,500 A82,500
otgN SsdH &xidl X2 345,000
= 270,000
= 75,000
CHEIH SS4E 2A2F A& XI&(20) 18,126 35,460 A17,334
[ 12,084
S 6,042
308 AHXIEMSOIE 18,126 35,460 17,334
[ 12,084
= 6,042
01 XN EES 18,126 35,460 17,334
OCtaN SS4H 2EAIF HE 21248 X
& 13,554
= 9,036
=S 4,518
OLaH =34dH 2SAIF 3 2848| X
! 4,572
[ 3,048
= 1,524
CHEN SsdE 28X 325,000 70,000 255,000
308 AFAIEHMSOIH 5,000 65,000 260,000
01 HXSHH B EES 5,000 65,000 260,000
OCtaH =S4 =t AgHl X1 5,000
403 X SHHMSAH=01H 320,000 5,000 315,000
01 AXISHHA =2 & 320,000 5,000 315,000
OCigH S=s4H JIs2Z K& 320,000
XotsHlE 22 XI&(=21) 2,347,983 2,377,485 N29,502
[ 1,565,322
= 782,661
308 AtAIEMSOIE 2,347,983 2,377,485 A29,502
[ 1,565,322
= 782,661
01 XN EES 2,347,983 2,377,485 A29,502
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A SXNEH
A SMESE SIXE(MISX/ER)
s OlsEsSAtlA XA EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OXS0otsHE JI=222Hl X 2,180,133
= 1,453,422
== 726,711
OXSHotsHE =ot=gd N3 167,850
[ 111,900
= 55,950
XSotsHE eldl K& (=21) 13,505,058 11,894,306 1,610,752
= 9,003,372
=S 4,501,686
308 XXM SOIH 13,505,058 11,894,306 1,610,752
= 9,003,372
== 4,501,686
01 HREHH B EES 13,505,058 11,894,306 1,610,752
OXS0otsHIE 1Al K& 13,505,058
= 9,008,372
& 4,501,686
S48 XY0otsHH FIXA(=21) 157,500 299,700 A142,200
[ 105,000
= 52,500
308 XtXIEMSO0IE 157,500 299,700 A142,200
= 105,000
=S 52,500
01 HXSHH B E2ES 157,500 299,700 A142,200
SstmzIgdy XA 75,600
= 50,400
< 25,200
OAIZIAEE X3 44,100
[ 29,400
= 14,700
oEx=2d X 37,800
= 25,200
=S 12,600
OtsS=SXILAL X (22) 2,142,297 2,088,009 54,288
= 1,428,198
< 714,099
308 AtXIEMISOIE 2,142,297 2,088,009 54,288
s 1,428,198
= 714,09
01 XN B EERS 2,142,297 2,088,009 54,288
OXY0tsHH Ots=XI AL A& 2,142,297
[ 1,428,198
= 714,09
XotsHE X2 29(=20) 179,990 179,990 0
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2A: SXEA
. SMRGE SATH(MIEX/ER)
&@te: OlsSsAMdlA X& (Ccre|: ®e)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
Ay 53,997
T 125,993
307 212+01 A 179,990 179,990 0
= 53,997
T 125,993
10 Al =S XA EEER2IHIE X 179,990 179,990 0
OXIE0tsHH XS 2H 179,990
s 53,997
= 125,993
NG otsdyH 29X 1,417,991 1,004,268 413,723
308 AXISHMSOIN 1,150, 191 874,768 275,423
01 XX SHNBAEERZ 1,150, 191 874,768 275,423
OXIS0ots4HEH 212dd] F=It K& 1,005,311
OXIYGotsHlEe 29 Fot K& 54,230
OXS0tsdH sadgesd X3 70,650
OXI0ts 4 =1 At XI& 20,000
403 REXISHHIS K201 & 267,800 129,500 138,300
01 XEXISHI =2 & 267,800 129,500 138,300
OXdotsdH JIs22 XA 267,800
KS0otsHE SAHA W= 7,600 7,600 0
307 212+01 A 7,600 7,600
11 AR SXAMEEER 7,600 7,600
OXIE0tsSHE SALAL B 7,600
OtsE3AbIA X 26,788,846 25,851,518 937,328
= 12,132,597
oy 5,112,195
| 870,4%
& 8,673,598
230ts HAUSH 5,500 5,500
201 Ler23H| 3,000 3,000
01 AtR2elt] 3,000 3,000
ootsEs HRFX 3,000
202 0idl 2,500 2,500
01 =WOdbI 2,500 2,500
OotsEs R=X 2,500
OISESHERA 2 XA(=1) 1,426,612 1,387,032 39,580
ras 1,317,488
= 109, 124
101 2124l 73,660 66,760 6,900
= 58,928
& 14,732
MU IIRNZ2EXsEs 73,660 66,760 6,900
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A SXNEH
A SMESE SIXE(MISX/ER)
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Oolls23dgRe =24 N 73,660
= 58,928
== 14,732
308 AtXIEMSOIE 1,352,952 1,320,272 32,680
s 1,258,560
= 94,392
01 HAHHBSEXRS 1,352,952 1,320,272 32,680
OltsE2dEed 29 A 1,352,952
[ 1,258,560
= 94,392
orsstH ™A 43 XA(=1) 7,500 0 7,500
= 7,500
308 XXM SOIE 7,500 0 7,500
= 7,500
01 XN B2 LS 7,500 0 7,500
OO0rSsith ol =JIXIE AlE A 7,500
= 7,500
HE delX2dE 2€ XY(=1) 159,748 185,374 4,374
= 79,874
< 79,874
307 el2to| & 169,748 185,374 4,374
= 79,874
= 79,874
10 Al SXAIZEHE 22X 159,748 185,374 4,374
OHE HelXlzdt 24 189,748
= 79,874
= 79,874
Olseily Mg 202 8435t AIY(=1) 100,000 100,000 0
= 50,000
== 50,000
307 elzto| & 100,000 100,000 0
= 50,000
[ 50,000
02 2B YAIHE X 100,000 100,000 0
Oorsstth dgelzola 2dat At 100,000
= 50,000
= 50,000
QESOE 88 2N (21) 1,526,994 1,340,144 186,850
= 872,568
=S 654,426
308 XtXIEMSOIH 1,526,994 1,340,144 186,850
= 872,568
== 654,426
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SN SX™HD
HH: SNEEE BT (MRS
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
R EREREES 1,526,099 1,340, 144 186,850
02250ts 182 2ZN 1,526,99%
2 872,568
= 654,426
Sijmlsiots &8 29 (=21) 905,447 867,625 37,822
2 517.3%
< 388,052
308 XIXIEHH SOI & 905,447 867,625 37,82
2 517.3%
< 388,052
O KX SHBAEES 905,447 867,625 37,822
OSHIHTIGHOLS EE 29 905,447
2 517,3%
= 388,052
OISESESI|Z 29(21) 3,888,004 3,778,050 110,044
2 1,944,047
= 1,944,047
307 BI2H0IH 3,888,004 3,778,050 110,044
2 1,944,047
< 1,944,047
EERNEEEEETIEES 3,888,004 3,778,050 110,044
ONIS2EHRIIR 2Y 3,888,004
2 1,944,047
< 1,944,047
MR Mol HhxI(2 D) 444,576 413,280 31,29
2 311,208
= 133,373
307 BI240IH 444,576 413,280 31,20
2 311,208
< 133,373
e EEEETI=ES 444,576 413,280 31,2%
ORXIY ML B 444,576
2 311,208
< 133,373
KX Al X2 (2D) 734,100 608,250 125,850
2 513,870
= 220,230
307 2I240IH 734,100 608,250 125,850
= 513,870
= 220,230
e N EEEETIEES 734,100 608,250 125,850
OREXIE AH 734,100
2 513,870
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A SAE M
A SMESE SIXE(MISX/ER)
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| = 220,230
o= =24 480,309 472,108 8,201
307 @201 & 393,888 340,000 53,888
10 Al2ISTIAEEE2EHIEX 393,888 340,000 53,888
OOl THEXIZEAIE 2Y 393,888
308 XtXIEMSO0IH 86,421 66,108 20,313
01 XN B2 LS 86,421 66,108 20,313
O8& 21Adl ot X 86,421
OlS2AIE2SAIE 29 867,905 800,255 67,650
307 elzto| & 867,905 800,255 67,650
10 Al SXAAEEE 22X 867,905 800,255 67,650
OOlsSZAESAIE 29 867,905
olsEsdEl2 29 A 177,936 140,000 37,936
307 @120l & 140,000 140,000 0
10 Al SXAEEE 22X 140,000 140,000 0
O0ts2sdEJ2 2dH| It A& 140,000
402 QIF X201 & 37,936 37,936
01 QI X2 AL E A (KEMITHE) 37,936 37,936
OYHASFOISESHEII& JIs2S XNEH 37,936
gAots JIEXE (=) 945,066 749,664 195,402
) 870,456
< 74,610
301 EtE N = 945,066 749,664 195,402
Il 870,456
= 74,610
01 AR EE A S(FRNEXM) 945,066 749,664 195,402
oL ots d=2Es N 99,870
7l 91,986
= 7,884
oggdls N 10,260
Jl 9,450
< 810
og =l 2T 1,064
Jl 980
== 84
oglls ds5+¢ AH 826,272
7l 761,040
=S 65,232
oge=ols K& 7,600
) 7,000
= 600
geko] & J1gAl X 5,000 5,000 0
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A SXNEH
A SMESE SIXE(MISX/ER)
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 elztol & 5,000 5,000
11 AMEISXAEEES 5,000 5,000
oYl & JIgAl X 5,000
It RIEOls ddiEEE XIJ(=21) 55,919 56,581 A662
= 39,143
= 16,776
307 @201 & 55,919 56,581 A662
= 39,143
= 16,776
06 2= 55,919 56,581 AB62
osoliE2gz X 55,919
= 39,143
L= 16,776
et - JtELIE0ls AelXIZ KA (2D) 7,707 28,424 ~20,717
= 7,099
== 608
301 EtE NS 7,707 28,424 N2, 717
= 7,099
= 608
01 Al EE A S(FREXMA) 7,707 28,424 AN20,717
oYY - IHERAE s delxlz X 7,707
= 7,099
= 608
H2IHE e 202 SH AY(=1) 136,800 136,800 0
= 126,000
== 10,800
301 EtE N = 136,800 136,800 0
= 126,000
< 10,800
01 Al EE A S (2 RDEEMA) 136,800 136,800 0
OMEINEAE HE0ISESH A& 136,800
= 126,000
= 10,800
Ol=88 2l X (=1) 1,429 5,000 23,571
= 1,000
=S 429
301 EtE NS 1,429 5,000 23,571
= 1,000
S 429
01 Al EE AT Z2(2DEXR) 1,429 5,000 A3,571
ootsE= a2l Xd 1,429
= 1,000
< 429
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A SXNEH
A SMESE SIXE(MISX/ER)
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
defjaolts 25l XId(=21) 36,480 27,360 9.120
= 33,600
== 2,880
301 EtE N = 36,480 27,360 9.120
= 33,600
< 2,880
01 Al EE A S (2 RDEEMA) 36,480 27,360 9,120
dUYOts 258 N 36,480
= 33,600
= 2,880
OlSZEXAHE XA (=1) 5,809,564 5,140,834 728,730
= 5,406,180
=S 463,384
308 XXM SOIA 5,809,564 5,140,834 728,730
= 5,406,180
< 463,384
01 XN BSELES 5,869,564 5,140,834 728,730
OOtsSZLE XA K& 5,869,564
= 5,406,180
== 463,384
FHANE OlsSEAMHIA X (S1) 4,079,311 4,154,062 AT4,751
[ 3,794,707
= 284,604
308 XtXIEMSO0IH 4,079,311 4,154,062 AT4,751
s 3,794,707
s 284,604
01 HREHH B E2ES 4,079,311 4,154,062 ANT4,751
OEEAEE MY X 4,079,311
= 3,794,707
< 284,604
NEEHEE Mg X=2(=21) 2,277,880 2,802,240 A\524,360
= 2,098,050
= 179,830
301 22N = 2,277,880 2,802,240 A\524,360
= 2,008,050
= 179,830
01 A2 HSHS(RNEXTH) 2,217,880 2,802,240 524,360
OESE=0ts Ne+g XNEH 2,217,880
= 2,008,050
== 179,830
2Slaots 2EXA(=1) 49,020 49,020 0
= 45,150
= 3,870
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SN ST
A SMESE SIXE(MISX/ER)
thel: Ol =2 AHIA IR EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIA 49,020 49,020 0
= 45,150
== 3.870
01 XN BSELES 49,020 49,020 0
O3AEXNSOS AEAE 49,020
= 45,150
& 3,870
orsa4a A& 1,115,498 1,062,296 53,202
301 22N = 1,115,498 1,062,296 53,202
02 ARSI 2E A S(FIANS, XLETHE) 1,115,498 1,062,296 53,202
ogsts Ots=A 1,115,498
2S0ts deerd X2 227,776 316,880 /89,104
301 EtE NS 227,776 316,880 /89,104
02 A2 EH LGS (FHAAHS, W) 227,776 316,880 /89,104
OES0ts daord X3 227,776
Z2e0|2 29 270,000 270,000
307 el2to| & 270,000 270,000
10 Al SXAAEEHE 22X 270,000 270,000
ozaa 23 270,000
IHEEXNEEH 2 813,164 770,948 42,216
307 212+01& 813,164 770,948 42,216
10 Al2ISTIAEEE 22X 813,164 770,948 42,216
OJEASXHHE 29 813, 164
OlsSSIHE Xl C1Zet DIsE2(=1) 109,436 131,432 A21,99%
= 54,718
== 54,718
401 AlEHIZ S 0HbI 109,436 120,000 A10,564
= 54,718
< 54,718
01 AlZH| 109,436 120,000 10,564
Oolts2sdEJ12 JIsEH 109,436
= 54,718
= 54,718
SSE4 MM 218 25| XR(2D) 36,000 0 36,000
= 25,200
=S 10,800
308 XXM SOl 36,000 0 36,000
= 25,200
< 10,800
01 XN B2 LS 36,000 0 36,000
OES =4 M0 2825 K& 36,000
= 25,200
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2A:
T ZH -
o e

=aak

Ofl &F2H

MEE
Ofl &k2h

H

10,800

18,075

18,075

18,075

18,075

18,075
18,075

18,075

10,000

10,000

rz

10,000

10,000

2
HL
P
oy

oL
Ofoh
HT
02
=
o
-
{0

10,000
10,000

10,000

m
~
=
m

SRRl

176,367
60,998
115,369

169,737

6,630

69,120

66,445

2,675

69,120

66,445

2,675

46,920

43,085

3,835

46,920
46,920

43,085

3,835

10,560

11,780

A1,220

10,560
10,560

11,780

A1,220

11,640

11,580

6,600,000&

420,000& ~ 122

6,600
6,600
5,040
5,040

6,600

4,980

SRR

107,247
60,998
46,249

103,292

3,955

SRR

107,247
60,998
46,249

103,292

3,995

SRR

107,247
60,998
46,249

103,292

3,955

Mo

107,247
107,247
60,998
46,249

103,292

3,955

>
==

10

52,897,642

54,448,495

A1,550,853

T | g

52,897,642

54,448,495

1,550,853

|0

52,497,642

54,448,495

1,950,853

52,497,642

54,448,495

1,950,853
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A SXEH
M MRS (SXNEHL)(MEISX/FHLAHEXR)
Rl WEAHHXIZ

RA - I BRA(E) - HRA - BES of v A
01 JIEt=I AN ES 52,497,642 54,448,49%
O2d=2380II=SEIH HES 52,497,642
Al & SEMEAESIIS 400,000
705 O~ &S 400,000
02 Oll===0IXtatet 400,000
OgoE2Eg NA(R1) 8l o4& 400,000
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= THELEE
Bt vt R e A (ol m2)
L EE - SRAB) - MRAY - BES of v e HIDE2
363,030,000 376,266,000 13,236,000
= 289,339,300
= 73,690,700
ZHESH(ASSX /I ZMEEE) 361,448,303 372,796,021 A11,347,718
= 289,339,300
= 72,109,003
Iz 2S(A=SSHIIS2SELIIA) 361,448,303 372,796,021 11,347,718
= 289,339,300
=S 72,109,003
2220 A= MHIA XIJ(=1) 366,014,720 368,199,595 A12,184,875
= 284,811,776
== 71,202,944
2ot2 A 780,59 780,595 0
= 624,476
< 156,119
01 AtR2t2|HI 780,5% 780,595 0
AE - A== 780,5%
= 624,476
= 156,119
403 TR M SAH=01H 365,234,125 367,419,000 12,184,875
= 284,187,300
=S 71,046,825
02 S 2SS0t et =& 2 EF A I 365,234,125 367,419,000 A12,184,875
dZHl s = 365,234,125
= 284,187,300
< 71,046,825
H RXESHZBAEER(22)(AI2) 5,228,128 4,390,971 837,157
= 4,422,824
= 805,304
S 5,228,128 4,390,971 837,157
= 4,422,824
= 805,304
01 Al EEAGZ(ZDEZME) 5,228,128 4,390,971 837,157
=20 2Y &s2 104,080
= 88,000
== 16,080
QAHl X FHAL=RII| FLXH 3,163,078
= 2,678,024
== 485,054
=0 2Y 243 188,750
= 160,000
= 28,750
AL LS R 1,132,820
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2A:

X XH -
o=

SINESES N}

f)

D ZHSETI (M SX /I =HESE
S9l 922012 2Y(ASS0I2SSEH) (crel: &8l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 957,600
=S 175,220
OIS S0 AL 639,400
= 539,200
[ 100,200
AESNHYSR =H(=1) 205,455 205,455 0
= 104,700
= 100,755
201 =3 10,000 10,000
01 A2l 6,000 6,000
o230 LY 6,000
03 Ar=EHI 4,000 4,000 0
(O IE=a=1: FEyI VA SESE e 4,000
202 04dl 12,230 12,230
01 2L A LI 12,230 12,230
o2zguge =X 12,230
308 AtXIEHMSOIE 183,225 183,225 0
= 104,700
= 78,525
01 AXN B2 LS 183,225 183,225 0
odd3Hl N 183,225
= 104,700
s 78,525
Gll=l=INQe =11 pAv |=[L:]D) 1,581,697 3,469,979 N 1,888,282
oHIH(QZ2=S0HII=2ZSE3AH) 1,581,697 3,469,979 1,888,282
oligil 1,581,697 3,469,979 1,888,282
801 GBI 1,581,697 3,469,979 1,888,282
01 Letoldlbl 1,581,697 3,469,979 1,888,282
©oulldlbl 1,581,697
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